
DESCRIPTIONID PART QTY REF.

Ref.: 9478

15 min1 person

6

7

5

3

4

2

1

Easy

Innnteeermmmediate

DDDiffifificcuuullt

  -  SPORT V-TECH FOR  -

KYMCO AK-550 ‘17-

Nº 3
Nº 4

ALLEN

Nº 10
Nº 11

Pg. 1/2

M5x1 nylon washer

M5 ISO 7380 screw cap

M5X16 Ø11 ISO 7380 Allen screw

Ø4,5 x Ø14 x 4mm rubber washer

V-Tech Sport screen

4 ARNV00000000245

4 TAPON________85

4  TORNI-I7380-493

2

2

 TORNI-E-----762

TORNI-E-----763

4 ARAND-GD13D5X4-

1 9478F/H/N/WM3

M6x12 special screw Hexagonal lenght 34

M6x14 special screw Hexagonal lenght 27

THE PUIG WINDSCREEN INTERFERES WITH 
THE FULLY FOLDED REAR-MIRRORS

https://www.motorcycleid.com/puig/


 -        

KYMCO AK-550 ‘17-KYMCO AK-550 ‘17-

1

43

2

Pg. 2/2

DISASSEMBLY DISASSEMBLY

ASSEMBLYASSEMBLY

6

1

2

5

3

2
2

6
5

1
7

3

4

2
4

2

 -  SPORT V-TECH FOR  -  

 - MOUNTING INSTRUCTIONS -

If you’re looking for quality motorcycle windshields & fairings, visit our website.

https://www.motorcycleid.com/windshields-fairings.html



